

SHARP PC-1401

$$Y_B - Y_A = X \rightarrow M (X_B - X_A) \updownarrow RM \text{ SHIFT} \rightarrow r\theta \Rightarrow \underline{d}$$

$$\updownarrow (+360 =) \Rightarrow \underline{y}^{\circ} \text{ SHIFT} \rightarrow DMS \Rightarrow \underline{\underline{y^{\circ} ' ''}}$$

$$y^{\circ} ' '' \rightarrow DEG \updownarrow d \updownarrow \text{SHIFT} \rightarrow XY \Rightarrow \Delta X \quad X \rightarrow M$$

$$\updownarrow \Rightarrow \Delta Y + Y_A = Y_B$$

$$RM \Rightarrow \Delta X + X_A = X_B$$